



Family Owned & Operated

Your Business Matters.



At Morcon Tissue, your business truly matters.

Morcon is a family owned converting company of commercial paper products including napkin, towel, tissue and dispensers serving the North American Away-from-Home Tissue Market.

Over these past 11 years, by focusing on the right partnerships, the right people, and the right investments, we have been able to experience incredible growth - with our customers at the center of all we do. As we enter 2025, we are poised for substantial growth bolstered by new products, new systems and new investments.

Owning a business had been a lifelong dream of mine and we made that dream a reality when we purchased Morcon in 2013.

Valerie, my better half for over forty years, has been incredibly supportive throughout my career, most especially when we decided to go "all in" and purchase Morcon in 2013. I am also very fortunate to be able to work alongside both of my children. Chris Raccuia serves as our VP of Operations while Tori Raccuia Saunders is our Director of Marketing and Product Management. They are both incredibly talented and provide passion, focus and leadership to their respective teams every day. Valerie and I are most proud of the people they have become, the wonderful partners they have chosen and the beautiful children they are raising.

Speaking of family, we are also very proud to say that many of our employees are also related. Moms and daughters, fathers and sons, brothers and sisters, in laws, cousins ...and so on. We are overjoyed to have associates that trust our culture and workplace environment enough to recommend their family members as potential new teammates. Additionally, we have had the good fortune to add many folks to our team who I had the pleasure of working with in the past either at SCA (now Essity) or Finch Paper.

Remaining family owned and operated demonstrates our commitment to this business and to this industry. Most of all, we are relentlessly committed to being a responsive, progressive, reliable, and creative partner to meet and exceed our customers, suppliers and employees' expectations.

Thank you for supporting Morcon and all of our talented team members.







- Thick, Soft, And Highly-Absorbent
- Reduce Or Remove Linen Service And Replacement Fees
- Non-Linting!
- Enhance The Guest Experience

Napkin

Dinner Napkins

		······					
	Product Code	Product Description	Ply	Color	Size (in.)	Pack	Per Case
	3466	Morsoft® Premium 1/8 Fold Dinner	2	White	14.2 x 16.5	20/150	3,000
NE	₩ 499VN	Valay® Premium Pillow Back 1/8 Fold Dinner	2	White	15 x 16.5	30/100	3,000
	1717	Morsoft® 1/4 Fold Dinner	1	White	16 x 16	12/250	3,000
NE	W 831	Morsoft® 1/4 Fold Dinner	2	White	15.75 x 14.875	12/250	3,000
NE	W 831K	Morsoft® 1/4 Fold Dinner	2	Kraft	15.75 x 14.875	20/120	2,400
NE	400VN	Valay® Air Laid Flat Pack Dinner	1	White	15.75 x 15.75	10/100	1,000
NE	417VN	Valay® Air Laid 1/8 Fold Dinner	1	White	17 x 17	6/50	300

Beverage Napkins

Product Code	Product Description	Ply	Color	Size (in.)	Pack	Per Case
VT522	Valay® Beverage	2	Black	9 x 9	4/250	1,000
B8500	Morsoft® Beverage	1	White	9 x 9	8/500	4,000

Dispenser Napkins

Product Code	Product Description	Ply	Color	Size (in.)	Pack	Per Case
D20500	Morsoft® Tall Fold	1	White	6.7 x 13.4	20/500	10,000
D712	Morsoft® Low Fold	1	White	6 x 12	32/250	8,000

Lunch Napkins

Product Code	Product Description	Ply	Color	Size (in.)	Pack	Per Case
L12500	Morsoft® 1/4 Fold Lunch	1	White	11.8 x 11.8	12/500	6,000

Interfolded Napkins

Product Code Product Description		Ply	Color	Size (in.)	Pack	Per Case
4500VN	4500VN Valay® Premium V-Fold Interfolded Napkin		White	6.3 x 8.85	12/500	6,000
5000VN	Valay® Premium V-Fold Interfolded Napkin	2	Kraft	6.3 x 8.85	12/500	6,000
4300VN	Valay® V-Fold Interfolded Napkin	2	White	6.3 x 8.85	12/500	6.000
5300VN	Valay® V-Fold Interfolded Napkin	2	Kraft	6.3 x 8.85	12/500	6,000
4545VN	Valay® Heavyweight V-Fold Interfolded Napkin	1	White	6.3 x 8.85	12/500	6,000
5050VN	Valay® Heavyweight V-Fold Interfolded Napkin	1	Kraft	6.3 x 8.85	12/500	6,000

* Dispenser Support Available

NT222 Table Top Dispenser

NT555

High Capacity Tower Dispenser

S	Small Core Roll	Towels					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
	VW888	Valay® Premium Heavyweight Roll Towel	White	800	1	8	6
	VK999	Valay® Heavyweight Recycled Roll Towel	Kraft	800	1	8	6
F	Premium TAD R	oll Towels					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
	VT106	Valay® Premium TAD Roll Towel	White	550	2	10	6
	VT8010	Valay® Premium TAD Roll Towel	White	700	2	10	6
	VT9158	Valay® Premium TAD Roll Towel	White	600	2	8	6
ŀ	Air Laid Towel						
	Product Code	Product Description	Color	Towels Per Pack	Ply	Sheet Size (in.)	Per Case
EW/	VT510	Valay® 1/6 Fold Guest Towel	White	100	1	11.8 x 16.5	500
k	Kitchen Roll Tov	vel					
	Product Code	Product Description	Color	Sheets Per Roll	Core Size (in.)	Sheet Size (in.)	Per Case
	VT8530	Valay® Premium Kitchen Roll Towel	White	85	1.75	11 x 8	30
1	LO in. Roll Towe	ls					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
	M610	Morsoft® TAD Roll Towel	White	500	2	10	6
	W106	Morsoft® Heavyweight Roll Towel	White	800	2	10	6
	R106	Morsoft® Heavyweight Recycled Roll Towel	Kraft	800	2	10	6
ι	Jniversal Roll To	owels					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
	W12350	Morsoft® Hardwound Roll Towel	White	350	2	8	12
	R12350	Morsoft® Hardwound Roll Towel	Kraft	350	2	8	12
	W6800	Morsoft® Hardwound Roll Towel	White	800	2	8	6
	R6800	Morsoft® Hardwound Roll Towel	Kraft	800	2	8	6
IEW	W61000	Morsoft® Hardwound Roll Towel	White	1,000	2	8	6
EW	R61000	Morsoft® Hardwound Roll Towel	Kraft	1,000	2	8	6
	Controlled Roll	Towels					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
	400WY	Morsoft® Y Notch Roll Towel	White	800	2	8	6
	400RY	Morsoft® Y Notch Roll Towel	Kraft	800	2	8	6
L	arge Core Roll	Towels					
	Product Code	Product Description	Color	Footage	Core Size (in.)	Width (in.)	Per Case
EW	W2600	Morsoft® Hardwound Roll Towel	White	800	2.6	7.5	6
EW	R2600	Morsoft® Hardwound Roll Towel	Kraft	800	2.6	7.5	6
	Center Pull Tow						
	Product Code	Product Description	Color	Sheets	Core Size (in.)	Width (in.)	Per Case
	C6600	Morsoft® Center Pull Towel	White	600	2.6	7.5	6
	Multifold Towel						
	Product Code	Product Description	Color	Size (in.)		Pack	Per Case
	VT1106	Valay® Multifold Towel	White	9.05 x 9.25		16/250	4,000
	R720	Morsoft® Multifold Towel	Kraft	9.05 x	9.25	16/250	4,000

^{*} Dispenser Support Available

Premium	Facial	LICCIIA
FICHHUH	ı atla	LIISSUC

	Product Code	Product Description	Ply	Sheet Size (in.)	Per Case	Sheets Per Box
	VT2130	Valay® Premium Flat Pack Facial Tissue	2	7.5 x 7.5	30	100
NE	₩ VT5310	Valay® Premium Cube Facial Tissue	2	7.5 x 7.5	36	85

Premium Bath Tissue

Product Code Product Description		Ply	Diameter (in.)	Core Size (in.)	Per Case	Sheets/Footage
M1000	Morsoft® Premium Small Core Bath Tissue	2	4	.875	36	1,000 Sheets
VT110 Valay® Mini Jumbo Bath Tissue		2	7.5	2.3	12	750 ft

Conventional Bath Tissue

	Product Code	Product Description	Ply	Diameter (in.)	Core Size (in.)	Per Case	Sheets/Footage
	VT2596	Valay® Premium Conventional Bath Tissue	2	4.2	1.75	96	500 Sheets
NE	W M4096	Morsoft® Conventional Bath Tissue	2	4.2	1.75	96	400 Sheets
NE	M1096	Morsoft® Conventional Bath Tissue	1	4.2	1.75	96	1,000 Sheets

Jumbo Bath Tissue

Product Code	Product Description	Ply	Diameter (in.)	Core Size (in.)	Per Case	Footage
129X	Morsoft® Jumbo Bath Tissue	2	8	3.3	12	500
M29	Morsoft® Jumbo Bath Tissue	2	8.5	3.3	12	625
М99	Morsoft® Jumbo Bath Tissue	2	9	3.3	12	1,000

Small Core Bath Tissue

Pr	oduct Code	Product Description	Ply	Size (in.)	Core Size (in.)	Per Case	Sheets
	M250	Morsoft® Bath Tissue	2	3.9 x 3.75	1	24	1,250
	M2000	Morsoft® Bath Tissue	1	3.9 x 3.75	1	24	2,000
	M125	Morsoft® Bath Tissue	1	3.9 x 3.75	1	24	2,500

Universal Bath Tissue

	Product Code	Product Description	Ply	Size (in.)	Core Size (in.)	Per Case	Sheets
	M600	Morsoft® Bath Tissue	2	3.9 x 3.75	2	48	600
NEW	M1232	Morsoft® Bath Tissue	1	3.9 x 3.75	2	48	1,200

Maximus[®] _

Proprietary Roll Towel System

Product Code	Product Description	Color	Footage	
X880 Premium Roll Towel - Electronic		White	800	
X880K	Heavyweight Roll Towel - Electronic	Kraft	800	
X8000	Electronic Roll Towel Dispenser - Black			
X780	Premium Roll Towel - Mechanical	White	800	
X780K	Heavyweight Roll Towel - Mechanical	Kraft	800	
X7500	Mechanical Roll Towel Dispenser-Black			

Proprietary Bath Tissue System

Product Code	Product Description	Ply	Footage		
X910	Premium Small Core Jumbo Bath Tissue	2	1,200		
X9120	Small Core Jumbo Bath Tissue Dispenser - Black				



Our Maximus Dispenser System offers the most advanced technology to provide you with MAX BENEFITS!

Learn More at morcontissue.com/maximus



^{*} Dispenser Support Available

Why Moreon?



TRUSTED
INDUSTRY
EXPERIENCE





PROUDLY CONVERTED IN THE USA





SUSTAINABLE PRODUCTION PROCESSES





FAMILY
OWNED &
OPERATED



MEETS AND EXCEEDS
EPA GUIDELINES FOR POST
CONSUMER / CONSUMER
RECOVERED CONTENT

Morcon Tissue is a leading converter of commercial paper products including napkin, towel, tissue, and dispensers for the Away-From-Home market in North America.

Family owned and operated, Morcon is a paper partner you can trust.

MA IMUS by MORC ON





www.morcontissue.com • 518.677.8511 info@morcontissue.com

f in